Chapter 5 Review

1) Solve the system by graphing.
) {-3x+y=8'*? Yyz3Kt38 ) {x-2y=—13—:~5f%x+ﬁ

~X+y=-2 D y=X-2 x+y=6-;3—;—;q+L
(x,9) =(-5,-3%) (x,9) =(-2,8)
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I1) Solve the system by substitution.

{x+2y 6 - x=[-29 tt} b {5x+6§]=—11 |

@ > rey=—4 g=lad
) =-1l
5X+6(-3Xx-4)="1
-2Y+b) +3Y = 2
SL J7e) 23 . 5x - 18X =24 =-1I
"'.nj +30 + 34 = 3% -2Y =11
-Ti‘j+3ﬂ = 4 +2y  t2
-3Jo -30
9 -*13}{'43)
~1Y=-1 ‘-
\(j:___..
K=z-204)+b=~8tb =-2 y=-3(=1) - =3-4="1

(x19) = (-2, ) (%) = (- V)



1ll) Solve the system by elimination.

)‘5 3.1:—5y=?) b)*3§4x+3y=9)
“ 3 5x_2}f=_1) g (3x+4y=12)
-5 +15‘j "'351 Al -l "L?[j = ‘1_?"} AL
X —6Y = 2X +16Y = Y3
lay = 38 1y =
\lj::-;’}_. Y 3
_ ‘ P —
3% ~5(-2) =7 x ﬂ}'*("-‘"ll] Yx +313
! - I :[ﬂﬁ)
IXK 410 =7 ( x+ 4 =1 iﬁj)
) -0 "I® 4yx =0
3.‘_}{.:'-_3 X =0



V) Set up the system and Solve

a) The sum of two numbers is 2 and their dlfference is 8. Find the
two numbers.

{igﬂ;]% 5+y= % [ijJ:-(s‘,-w\

y= -3

2X=1o

X=5
b) The sum of two numbers is =5 and their difference is 9. Find the
two numbers.

X?{__S 14—3:*5 (l’ﬁ.j):{l;?)

k‘j:"?-

2x=4
X=X



V) Graph the linear inequalities.

a) 2x-3y<9 b) 4x-2y=6
-3y ¢ -2X t 4 -2y > -yx b
2 < -
Yy=>3Kk-3 Yy & 2X-3
Test (0,0) + 2(0) =310) <9 Test (0,0) ¢ Y01 -2(2) 26
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VI) Graph the system of linear inequalities.
3x+2y>4 —%235-3?{*"\ x-3y=3 = -3Ys-X+3
a) b)

- -2 -6y =- 23X~
3x+6y<-12  ys>-Ix+2 ZZI 6y=-24

: Tﬂt (0,0
bY <~3X - 12 Tost. (0,0) 6y > -2x-2y . )J,
Ly_g 3(0) 12(0) >Y 1 03

Test o) + 3 w) +6l0) <-12 Tt (0,0) F 02 -2 V




